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9.7A Law of Sines

Solve the proportion. Round your answer to the nearest tenth.
a 21 2 110 85

| sin28°=sin65° " sinC  sin36°

L , 54 __ 6l
* sin9° sinl105° " SnB  sin73°
(D osmbS = 2\ §in2E (> 85smC = 110 530
- amC = |loSin3e
ONn= Zlsn2E 109 =,...----—
sin S uosm?w O
ml( = sm' —_— { g__

@ psw oS = @3sng @ ] omb = 5,,,51;')7-3
on b = TS

b = @5731}2)% :ilD.Li
mLp = Sm"( W?? @

Use a calculator to find each trigonometric ratio. Round your answer to
four decimal places.
a. tan 150°

- 5% . 8600 -, 0872

b. sin 120° c. cos 95°
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Area of a Triangle 8

The area of any triangle is given by one-half the product s

of the lengths of two sides times the sine of their included ¢

angle. For AABC shown, there are three ways fo calculate

the area. A b C
Area = %bc sin A Area = %ae sin B Area = labsin C

Proof of Area Formula:
A = (1/2) base x height

in the triangle above, b would be
the base and the height would be

“equivalent to c(sinA)

Find the area of each triangle. Round your answer to the nearest tenth.

B A :% beSmA

2L (MUe)sm I3

A 17 C ——

5 [/ILI 2 units® [

Find the area of 2ABC with the given side lengths and included

angle. Round your answer to the nearest tenth.

4.B=60°,a=19,c=14 5.C=29° a=38, b=31

A= LoacsnB A- $abSnt

A- %U"\)(l*ﬂ) sin 0O A- L (;g)(?/) smzA
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Theorem 9.9 Law of Sines

The Law of Sines can be written in cither of the following B
forms for AABC with sides of length a, b, and ¢. <
'y
sinA _sin8 _sinC a _ b _ ¢
a b c sinA  sinB  sinC A B c

Proof Ex. 51,p. 516

Proof of Law of Sines

SinA=hlc Sin C =h/a

Therefore, h = ¢SinA and h = aSinC
Then, cSinA = aSinC

and more simplification reveals

that SinA/a = SinCl/c.

This can be done by drawing any of the
three altitudes in the triangle.

December 19, 2018

Solve the triangle. Round decimal answers to the nearest tenth. S
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Solve the triangle. Round decimal answers to the nearest tenth.

ML B=3\.5°
ml.c' 108.5° /\

"::\)\----—ﬁA = Si\_ﬁ_ c’ - .g--
o b aml smA
ond0 _ sinb c o
1G 5 snl0§5 smHb
g = 13 om0 3'"4" c = losn 10
smHO
mLB= 21.5°

A surveyor makes the measurements
shown to determine the length of a
bridge to be built across a small lake
from the North Picnic Area to the
South Picnic Area. F_ind the length

of the bridge.
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Find +ha arem of The fnanslf,

~Round decimal answers to the nearest tenth.

C (ob° 8
N
85 29° A<Z .
B & 240 C
_.--—-c' ’b' ¢ a
- — F = SMB
sinC snb smC smA /4 % £
_‘/\ﬁ‘ = = L . lo A- _t(,o)(zo.ﬁ)sm?o
sinbl ~ sm§¥S swgl Sz
A: qs.q' um-,'S'z
C = wﬂ_ C= josm8l D
C= &L C = LD:3%
A=Lpcsmh
-

A= 1 (D)es)3m2T

| Am Homework:

WS 9.7A Law of Sines and Area Formula
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9.7B Law of Cosines

Find the measures of /X and 2Z.

1. Y Z

28° w

28+ 2% +90 = 300
2x + 1§ =300

2X = 242
X =12
LX: mLZ=12|°

Theorem 9.10 Law of Cosines

then the following are true.
a2 =P+ 2 — 2bccos A
b =a?+ ¢ — 2accos B
¢ =a*+ b? — 2abcos C

Proof Ex.52,p. 516
\_

If AABC has sides of length a, b, and ¢, as shown,

)’p‘ms of L oo

of C.osm(s;l_

)
At = h* *\L:‘l {nt=hix ""’l
v

at s n e le)
NP OSRE VR

L cheX
0\1, :‘gx'.'\"..z ~1L¥ (‘,o‘p\ b
At = bt et - 2belash, plosh =x

3 WorkS for SAS ard  SSS
¥ Ambigvous Cas¢ for S5A

Qo + 120 +140 +X + /o4 + X+20 = #20
X + 474 =720
2x =246
X=123
| mex - 122 | mzz=/43’°/'

Low of Covmus
0.F = b 4" - Lhelosh
bt sor + - 200Cos B
cr = ot bt ~2abCosC
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¢
Solve the triangle. Round decimal 2] 14 A
answers to the nearest tenth. 24
11 b
bl:a1+ ct - 2ac(osB > C
b2 = 1% 4 14 * -2()(4) cos 34
- 2] +190 - 208 cos 34 sinB s SULTE
e b &
\{_b_z' 7(3“"' - 30% cos 34
P sn3d _ sinA
l/"_.’?’, 1.9 H
smh = Llsn 34
+.9
mLA= 51.1°

Solve the triangle. Round decimal answers to the nearest tenth.
o

cC 45 B b A .
23 1185\ 26
43 C
A C o :
bt = ot +c* - zac Cos B 0Lz bract -2beCosA
(p* -5t M;uz(‘fﬂ'(ﬂ)m?& (0® ~f3*+ 207 -2(28)(20) & "
o- bl | .
= 45_5_‘1_
oA 5':6 /”3 - [N
O 0
5\‘(\A 51!‘1&8 - [_',\_ALA :47"-,

e —
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Solve the triangle. Round decimal answers to the nearest tenth.

oF = b ¢t -2be CosA Sin sm B
4 . 6% +5* -2()E) A =

17 = 20 +25 "UOCOSA' 'Sin‘-H\Ll " S,LLB
0= G| - W0 CcoSh 4 ©
iy :'(oDCOSA smb = (03"‘“//-"/

15 = cos A 7 Li
meh= 4147 |8 73]
)ﬁLc, 559 j
Classwork:

WS 9.7B - Law of Cosines

B
o

c 16 23

AT 27: C
0= br+ e - Lbe (osA
23 237 41p* - 2(23)w)
579 = %29 + 250 - 80oH c0SA
519 =985 -804 cosh
450 = 80 cosh

45D
2= - cosA
oY
B8l° = mLA]
s_jﬂ.& = si_.._-.nc
a &
sin56 | ; s C
3 /o
&€,
27

[mee-36.2]

Lm L= 85.7°
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Homework;

pg. 513 #9-12 Find the area
#13-18 Solve triangle with sines
#19-24 Solve triangle with cosines
#27-32 Solve triangle both methods
#43 Solve with Algebra



